x3+6x2+8x-3>0

BCIIOMOTI'aTCJIBHOC YPABHCHUC.

X +6x°+8x-3=0
x3+3x2+3x2+9x-x-3=0
(x3+3x2>+(3x2+9x)—(x+3)=0
(c+3)x2+(x+3) (3X)-(x+3)1=0

(x+3)(x2+3x-1>:0

Pemaem KaXXAYyI0 CKO6Ky KaK OTACJIBHOC YPABHCHHC.

1).
x+3=0
x=-3
2).
x2+3x-1=0
Haxonum nuckpuMuHaHT.
D=b’-4ac=3°-4-1(-1)=13
_-b+[D
X127 2a
3413 -3+/13  -3+/13 -3+/13
1521 - 2 %7 o T 2
-3/1 -3+/1
OtBeT ngJZB;xz—B;xchIJZB

Pacuet 3HaKOB.

-3-/13

Cnyugait 1 @ x< 5
[lycts X=-4

(-4)3+6(-4)2+8(—4)—3=—3<0 HE yJIOBJIETBOPSET HEPABEHCTRY.

-3-/13

Cnyyait 2 : > <x<-3.



ITycts X=-3,1

(-3,1)3+6(-3,1)2+8(-3,1)-3=0,069>0 Y/IOBIIETBOPSIET HEPABEHCTBY.

-3+/13

Cayyait 3 : -3<x< >

ITyctb Xx=0

03+6'02+8'0-3=-3<0 HE yJIOBJIETBOPSIET HEPABCHCTRY.

-3+ 13<

Cnyuait 4 : > X.

ITycts X=1

13+6- 12+8- 1-3=12>0 ynoBieTBOpPSET HEPABEHCTRY.
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